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NOTE: TKHUH DUH 9 QXHVWLRQV LQ DOO.

x      QXHVWLRQ 1 LV FRPSXOVRU\ DQG FDUULHV 20 PDUNV. AQVZHU WR Q. 1. PXVW EH ZULWWHQ LQ WKH VSDFH

SURYLGHG IRU LW LQ WKH DQVZHU ERRN VXSSOLHG DQG QRZKHUH HOVH.

x      OXW RI WKH UHPDLQLQJ EIGHT QXHVWLRQV DQVZHU DQ\ FIVE QXHVWLRQV. EDFK TXHVWLRQ FDUULHV 16

PDUNV.

x      AQ\ UHTXLUHG GDWD QRW H[SOLFLWO\ JLYHQ, PD\ EH VXLWDEO\ DVVXPHG DQG VWDWHG.
 

 

Q.1       CKRRVH WKH FRUUHFW RU EHVW DOWHUQDWLYH LQ WKH IROORZLQJ:                                         (2[10)
                                

      a.     In an economic system, the state of profit occurs in a system when efficiency is
 

             (A) Greater than one                                 (B) Lesser than one

             (C) Equal to one                                        (D) None of the above

       
     b.     A system for measuring and inspecting a phenomenon
 

             (A) Statistics                                             (B) Quality

             (C) Control                                               (D) None of the above
       

      c.     The range of µx¶ in normal distribution is
 

(A) –1 to 1                                                (B) 0 to 

            (C) –  Wo 0                                             (D) –  to 

       
     d.     The methods used for solving transportation problems are
 

(A)   Linear programming and Graphical method                                                                      

(B) Poisson and Normal distribution

             (C) Vogel¶s approximate and North-West corner method                                                      

             (D) PERT and CPM

       

      e.     The most precisely and widely used method of job evaluation is
 

             (A) Ranking method                                  (B) Grading method

             (C) Factor comparison method                  (D) Point method

       

      f.     The number of standards in the ISO9000 series are
 

             (A) Two                                                    (B) Three

             (C) Four                                                   (D) Five

       

      g.     The method aims at reducing the transportation of in-process inventory from section to section
 

             (A) Travel chart                                         (B) Load path matrix method

             (C) Correlation chart                                 (D) Process flow chart
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      K.     TKH PHWKRG WKDW XVHV DOJHEUDLF HTXDWLRQV
 

             (A) GUDSKLFDO WHFKQLTXH                             (B) SLPSOH[ PHWKRG

             (C) BRWK RI WKH DERYH                                (D) NRQH RI WKH DERYH

       

       L.     TKH ILUVW PK.D JUDQWHG LQ WKH USA LQ WKH ILHOG RI LQGXVWULDO HQJLQHHULQJ ZLWK UHVHDUFK GRQH LQ DUHD RI

PRWLRQ VWXG\ E\ CRUQHOO UQLYHUVLW\ LQ 1933 ZDV DZDUGHG WR
 

             (A) RDOSK M. BDUQHV                                 (B) HXJR DLHPHU

             (C) H. B. MD\QDUG                                    (D) A. G. AQGHUVRQ

       

      M.     TKH V\VWHP XVHG WR HYDOXDWH VSHHG UDWH RI DQ RSHUDWRU ZLWK WKH KHOS RI SUHGHWHUPLQHG PRWLRQ WLPH

VWDQGDUGV
 

             (A) SSHHG UDWLQJ                                        (B) SNLOO DQG HIIRUW UDWLQJ

             (C) S\QWKHWLF UDWLQJ                                    (D) OEMHFWLYH UDWLQJ
 

 
 

 

Answer an\ FIVE Questions out of EIGHT Questions.

Each question carries 16 marks.
 

 

  Q.2     D.   WKDW GR \RX PHDQ E\ SURGXFWLYLW\? AOVR H[SODLQ WKH IDFWRUV DIIHFWLQJ SURGXFWLYLW\.             (10)
 

             E.   DHVFULEH WKH SULQFLSOHV RI SODQW OD\RXW.  (6)
 

  Q.3     D.   WKDW DUH WKH UHTXLUHPHQWV RI D JRRG SURGXFW GHVLJQ? E[SODLQ EULHIO\.                  (6)
 

             E.   WKDW DUH REMHFWLYHV DQG HOHPHQWV RI WRWDO TXDOLW\ PDQDJHPHQW?                           (5)
 

             F.   DHILQH DQG GLVFXVV PDFURGDWD & PLFURGDWD. WKHUH DUH WKHVH XVHG?                    (5)
 
  Q.4     D.   E[SODLQ EDVLFV RI VWDWLVWLFDO TXDOLW\ FRQWURO.                                                          (8)

 
             E.   DHILQH HUJRQRPLFV. WKDW DUH LWV REMHFWLYHV?                                                       (4)

 
             F.   WKDW DUH WKH REMHFWLYHV RI ZRUN PHDVXUHPHQW?                                                  (4)

 
  Q.5     D.   UVH WKH VLPSOH[ PHWKRG WR PD[LPL]H WKH JLYHQ REMHFWLYH.                                        

�������������������

                   

��������������������� ��������������������������������������������������������������������������(6)
 

E.      DHVFULEH WKH IROORZLQJ:
(L)      SPRRWKLQJ WHFKQLTXH                      (LL)  CUDVKLQJ RI NHWZRUN                        (4)          

 
F.       WKDW DUH WKH DSSOLFDWLRQV RI JRDO SURJUDPPLQJ?                                                 (6)
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  4.6     D.  WKDW LV WKH LPSRUWDQFH RI SODQW PDLQWHQDQFH?                                                     (4)
 

E.      WKDW DUH WKH DGYDQWDJHV RI XVLQJ VWDQGDUG GDWD IRU PDLQWHQDQFH FRQWURO?            (4)
 

F.       E[SODLQ EUHDNGRZQ PDLQWHQDQFH.                                                                      (8)
       

  4.7     D.  WKDW DUH WKH GXWLHV DQG UHVSRQVLELOLWLHV RI D IRUHPDQ WRZDUGV PDQDJHPHQW DQG ZRUNHUV?     
          (8)

 
             E.   DLVFXVV WKH UROHV DQG IXQFWLRQV RI IQGXVWULDO EQJLQHHU.                                          (8)
 

  4.8     D.   DLVFXVV PDWHULDOV PDQDJHPHQW. SWDWH WKH IXQFWLRQV DQG REMHFWLYHV RI PDWHULDOV
PDQDJHPHQW.                                                                       (8)

 
� � � � � � � � � � � � � E.   WKDW LV WKH FRQFHSW RI LQYHQWRU\ PRGHOV? AOVR HQOLVW WKH GLIIHUHQW W\SHV RI LQYHQWRU\

PRGHOV.                                                                      (4)
 

             F.   WKDW DUH WKH DGYDQWDJHV RI JRRG FRQWURO RYHU WKH LQYHQWRULHV?                            (4)
 

  4.9     D.   WKDW LV WKH QHFHVVLW\ RI ABC DQDO\VLV? SWDWH WKH VWHSV RI ABC DQDO\VLV.             (4)
 
             E.   MHQWLRQ WKH RXWSXWV JHQHUDWHG E\ PDWHULDO UHTXLUHPHQWV SODQQLQJ (MRP) WKDW FDQ EH XVHG LQ WKH

SODQQLQJ DQG PDQDJHPHQW RI SODQW RSHUDWLRQV. AOVR JLYH WKH EHQHILWV RI
MRP                                          (6)

 
             F.   DHILQH PHULW UDWLQJ. E[SODLQ WKH GLIIHUHQW PHWKRGV RI PHULW UDWLQJ.                          (6)


